|
o
R

1/0d/ d l\it dm™"Y [1/GeV]
o

-
<
I

Ratio to ATLAS

0.5

13000 GeV pp tt
T 1T 7 | T T T Tt TT | Tt T T T T TT | T I | ﬂ
— | | — 3
= M(ttbar) (ATLAS semileptonic ttbar) 43
— 1=
L —~
B N
| I
o
—
- =
o
- |
N Js
E Q/ \\i E
I . 1z
~ N q.
o™
O
o
— 9
[ <
— .=
u 1%
. m ATLAS 4=
. <
— --©0O-- Herwig++ 2.7.1 default m N=
- ---- Herwig 7.2.1 default o — §
%
©
— &
| 1O
S U S S U ——H
- 42
— ©~~ ]
B D,’ 8\>E:E:_:__E _____________________ E _1
O ]
e @ ]
| —0.5
1 " 1 " | " 1 1 1 1 " | " 1 1 " 1 1 " | " 1 1 " |
500 1000 1500 2000



	Contents
	Page 1


